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Mixed Spectral Method for Exterior Problem of
Navier— Stokes Equations by Using

Generalized Laguerre Functions

. 1,23 1,23
,]LA()YU— J1an > , GUO Ben— yu >
(1.Department of Mathematics , Shanghai Normal University,

Shanghai 200234, P.R . China ;
2.Scientific Com puting Key Laboratory of Shanghai Universities,
Shan ghai 200234, P.R. China;
3. Division of Computational Science of E— Institute of Shanghai Universities,

Shan ghai 200234, P.R. China)

Abstract: The mixed spectral method using generalized laguerre functions for exterior problems of
partial differential equations of fourth order was investigated. A mixed spectral scheme was provided
for the stream function form of the Navier— Stokes equations outside a disc. Numerical results

demonstrate the spectral accuracy in space.

Key words: spectral method; exterior problems of fourth order; Navier— Stokes equations



